BLDG A

1.0.5

=
—IN
X
|
(@))
o . [ o
R O
- o~ o~ -
A i i n
= ol =% =
E | & _ &
S

BLDG A
FAVE ELEV.

SCALE 1/8" = 1’-0"
~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~
il i I il II %% %
g &€ & & & & & & & & & & & & & & & & & E & & & & E & E & E E & E & B
T.0S. )
f el T Vo T T e T Loule 1 Toebe 1 T hod T Dol T Tobe [ [ o
. " s 2 s T =, s T s 3 s 3 ? ~
- I e e A A A A A A
© of i 7 y 7 iy i 7 T =
N 8 1Al & {A] & {A] & 1A & 1A S 1Al S 1Al & 1A S Al =
5 g g g g g g g g o
- FR_
’ ”
100 -0
SCALE 1/8" = 10"
~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~
i % % & 2 2 i I I I I 1 i1 i1 1111111 I 1 11 I 1 I I I 11
g & ¢ E & E &€ E E E E E E E E E E E E & E E E E E E E E E E E E ECE
T.0S. ¢ )
f —oslee | L gugdd L beele | Togkg | ] gped L begle o loper | 1 opeg T begy |
5 i : 3 : o : o ¢ o £ o ¢ o ¢ o : o : T
= i I b I~ i~ i~
i g T A A A A A —— A A——s—AE——A E
S = : : : : : : : :
i EF,
’ ’
100'-0"
~
A
g
— 1.0.S

(RW)8'=8 1/2
(RW)8'-10
(RW)B'-11 1/2

(RW)8'-7

Aﬂ#ﬁ

v (RW)E'-11 1/2

RAKE ELEV. o © ) ) RAKE ELEV. o
' /" SCALE 1/8" = 1’-0" !
” [ ” - - - - -
SCALE 1/8" = 1'-0 5 0 / 0
i 0" F.F. 0" F.F. * i 0" F.F.
b ” I ”
30 -0 - m— 30 -0 —
’ 1
—(18) EACH 9'-0 X 7'=0 OVERHEAD COIL
) b
—(6) EACH 4 -0 X 7 -0 OVERHEAD COIL
— BA316R 4 X 3 X 18GA. ANGLE (6.9) - FLOOR BASE ANGLE ML) — 29GA. M-LOC WALL PANEL F1) — CONC. EXP. ANCHOR (SIZE BY CUSTOMER) — BASE TO SLAB CONNECTIONS BIR) - 1" ROLL MASTIC C8) - INSIDE CORNER BOX
BCl — U42516R 4 1/8 X 2 7/8 X 16GA CHANNEL (9.9) - FLOOR BASE CHANNEL L] - 29GA. R-LOC WALL PANEL F2) - 12 X 1 SD TEK (PLTD — STRUCTURAL STEEL CONNECTIONS CUN) - R PANEL INSIDE FOAM CLOSURE c — LOW RIB INSIDE CORNER TRIM
— CA218R 4 X 2 X 16GA CEE (8. - 4 COLUMN PL{ - 29GA. PANEL-LOC WALL PANEL F3) - 12 X 1 SD TEK (PLTD — PARTINION SHEETING CLOUT) — R PANEL OUTSIDE FOAM CLOSURE JA — DOOR JAMB TRIM dr ft 1nk
w gﬁ - gig?&gﬁ“ix’(z!x% X ::SEGEA'(B.B (11.9) - Socﬁ?h”e'}ﬁ PR — 29GCA. R PANEL WALL PANEL w [ (F4 - 12 x 2 SD TEK (PLTD — PARTITION ANGLE CONNECTIONS GEOCEL) — GUTTER SEAL UC ~ DOOR JAMB CAP a .
=] S LA L ] 11.9) B oo L R| - 26GA. PBR ROOF PANEL 5§ (F5) - 12 X 1 1/4 WASHER TEK(OR ZAK)(PTD - EXTERIOR WALL SHEETING T0) - R PANEL INSIDE CORNER TRIM ~ LOW RB HEAD AND JAMB TRIM P.0. box 14888 springtisld, mo. 88814-0888
S| D umEalinf e filege : aide = [ 0 - o it S LRI b o gt . | 12 - s o e Sy R B T o furaer et e i s
5 st R R S SUL LR RS . S0 ) e W | {ra) - 14 X 7/8 WASHER TEK(OR ZAK)(FTD — EXTERIOR WALL PANEL LAP 3 — DOWNSPOUT WITH KICK OUT ) — OUTSIDE CORNER BOX Self-Storage Systems project-| NOT FOR CONSTRUCTION drawn  date | chha  date
A | ) - ca21er 4 x 2 X 160 CEE (89) - GRT e S | {F9) - 14 x 7/8 WASHER TEK(OR ZAK)(PTD)(PLTD) — ROOF PANEL LAP a ) - DOWNSPOUT STRAP - PEAK BOX T ™ 01.01.04
~ BAZ216R 4 X 2 X 166A ANGLE (5.9) —  HALL TOP ANGLE s @ || {F10) - 14 X 7/8 WASHER TEK(OR ZAK)(PTD ~ INTERIOR TRIM LAP L - EAVE FLASHING - RAKE TRIM END CAP ==
AR e C T 1 L o o | B T A e rgon g © Rt e G| - pue e - e
- : - - - — GUTTER END CAP - HALL TOP TRI
E s Rt ) s T = 2| 130 = 12 X 1 174 waskeR TD<$0R ZAK;iPTo ~ INTERIOR TRIM DRILLER s ~ GUTTER HANGER STRAP -~ ROOF TIE IN_TRIM 1652 S Lee Hwy. Cleveland. TN 37311 customer-| PRECONSTRUCTION REVIEW DRAWINGS sheet of
(& - Z42516R 2 1/2 X 4 X 2 1/2 X 166A ZEE (09) -  ROOF PURLN & = vq; - }: § ;;g ﬁﬁﬂﬁn’? ¥§§8§ %;%}(PLTD) - lﬁ%lgﬁ %]L &‘5‘“ W % - E&S,L T{% ggv"c? 45 - 58? T%rtfgn uP SP& ma;nus o Ly, Zeverand,
'@ | - et }ZZ§ el [}}3 N e '%J 4 R B = INTERIOR TRIM = — DOOR HEAD TRIM ' (800) 728-4010
7z = A N < o = HIGH EAVE TRM www.bestbuymetals.com -
- EB4318R—/0 3 X 6 X 4 X 18GA. STRUT (13.9) - RIDGE STRUT




